ITI Turner 2nd Year Module 1 Form Turning

(1). Where the follower is fixed to produce form turning? | ThTH i W%ﬁ’lﬁ
IR Wl W ! BT A & ?

(A) Tool part | @f[tn?

(B) Topslide | E'\I{GWE_S'
(C) Cross slide | WVW"VT'IE_S'
(D) Tail stook | RS

Correct Answer : C

(2). Calculate the length of metal passing by cutting tool in one revolution if the
diameter of work is 75mm and cutting speed is 120m/min. | thwff
TToRH ATl 4T P TaTs D1 TUFT B Al Siid BT AN 75 mm § AR HIeA B
Mfd 120 m/min %’I

(A) 235.5mm

(B) 295.7 mm
(C) 365.3mm
(D) 485.7 mm

Correct Answer : A

(3). What defect may occur during grinding a form tool cutting edge? | qﬁﬁ@'ﬂ%

fHIR &) UEFET B THY RT3 I Bl Gbdl 82

(A) Form tool getting broken | BrH cd ¢ o dl %

(B) Shape of the form gets altered | qﬂ_\lﬁﬂﬂﬁ HIhR dacl Hohdl %
(C) Clearance angle changed | WWWW%



(D) Thickness of the tool reduced | Qﬁﬁﬁﬂgﬁﬂﬁ%

Correct Answer : B

(4). Calculate the spindle speed to turn a 40mm dia M.S rod using a cemented
carbide tool it cutting speed is 92mm/min? | H@@%Wm mm ST & Slid H
S HIEZS & ¢ BT SUANT B WUSH DI Tfd P U B | S B
g 92 firft/ fiFe g 2

(A) 508 rpm

(B) 685 rpm
(C) 732 rpm
(D) 950 rpm

Correct Answer : C

(5). Which one is chief constituent of ferrous tool material? | ﬁﬁ@?ﬁ’s’@ﬁ
T T TR Tedh I T 82

(A) Iron | TTET

(B) Tungsten | %A
(C) Vanadium | gTSTH
(D) Carbon | BT

Correct Answer : A




(6). What is the name of instrument used to check the form of profile? | Eﬁ'q?l%ﬁ
& U DI ST & 1o18 Ugad ISR BT TH T 62

(A) Feeler gauge | IGR TIol
(B) Template | SFeIC ()
(C) Radius gauge | ST TSl
(D) Fillet gauge | fiheic TS

Correct Answer : B

(7). Find out the R.P.M of spindle for a 50mm bar (D) and cutting speed is
25m/min. | 50 il ‘D' B T (AR) Td 25m/min HIET T 3 RUSA &b RPM DI
A B2

(A) 100rpm
(B) 159rpm
(C) 168rpm
(D) 250rpm

Correct Answer : B



(8). Which material is used to make radius gauge? | mﬁﬁﬁﬁ'ﬁ%ﬁﬂm
IR &1 SURT fohaT ST 82

(A) Cast steel | =l SHId
(B) Tool steel |§\FTW

(C) Hardened sheet metal | 6Ié‘6 Tfic Acd

(D) Stainless steel | LA ©d

Correct Answer : C

(9). How many precision rollers required for measuring angle of tapered

component? | TR fhT T Tl & HI0T HI ATOH & foTE fovd= IR XIad Bt
3TIRIH AT BIll 82

(A) 1

(B) 2
(C) 3
(D) 4

Correct Answer : B

(10). Which cutting tools have highest cutting efficiency? | GI’?I"I T BT cd H

T P BTe P eI 22

(A) Mild steel | g LWId
(B) High carbon steel | 3= CARE YId

(C) High speed steel | 3™ Tfa ¥Id

(D) Carbide | WIHTE_S'

Correct Answer : D



(11). What will happen to the tool life if the spindle is running higher speed? | ¢cl

o Sita UR o1 WHTd G, Tfe (S d &1 3= Tid IR gHRIT W ?
(A) Less | BH

(B) More | STal

(C) Medium | AT

(D) Very less | §gd ®H

Correct Answer : A

(12). What is the name of part marked as ‘X’ in plunger type dial test indicator? |
WoR UhR & S o §fgh e H 'x' gRI Ifgd fra e ym s\ g2

(A) Bezel | Sold
(B) Anvil | Tf<ad
(C) Stem | &H
(D) Plunger | WSk

Correct Answer : C



(13). Which type of Jigs are used to hold thin or soft work piece? | qﬁﬁmﬁam

IHUN I Uh s & ot forg UeR & forg &1 SudivT fasar S g2
(A) Table Jig | od foTT

(B) Solid Jig | HiTers FomT

(C) Sandwich lig | &fda fomT

(D) Post Jig | TR TSI

Correct Answer : C

(14). Which property of tool material maintain cutting efficiency during

machining? | @WW@?W@W%@WWH&WWW
8?

(A) Cold hardness | ﬁC_B'B'Iéem
(B) Red hardness | Q_a'"s’lé%lﬂ
(C) Toughness | HOR

(D) Brittleness | q-I":R?IT

Correct Answer : B

(15). Which letter indicates in the given shape of insert A? | %E‘TQ IMHRH A

STeH &1 I IT &R xfarg?

(A) L

(B) T
(C) R
(D) S

Correct Answer : B



(16). What is the name of part marked as ‘X’ in Lever type dial test indicator? |

TR R Sa e e & 'y gRI FIfRd fpd e ym s R Ama 82

(A) Stylus | XTI
(B) Lever | folaR
(C) Scroll | ShId
(D) Pivot | TUaa

Correct Answer : A

(17). What are the possible surface that can be produced by form turning? | IH

i1 Se B & 1T hieliar wgl fthars fobam oirar 82

(A) To generating concave and convex profile | Adddl G?ITWWW
& & forg

(B) To generating cylindrical surface | SAI®HR Tdg T B & [eld

(C) To generate conical surface | RPTHR Jdg I B %ﬁﬂl

(D) To generate flat surface | SHdA Idg S o [eld

Correct Answer : A



(18). What is the term marked as ‘x’? | X'%Wﬁﬁﬂ%ﬁ%ﬂ%?

; B . —_—
ol I

7

(A) Diameter over roller at bigger end | a@ 3 R IR T AT

v (of
(B) Height of the job | ST &1 3dTg

(C) Height of the slip gauge | g TS B \5tll‘$r

(D) Diameter over roller at smaller end | Bic R IR IR R AN

Correct Answer : C

(19). Which tool material is used to make ceramic tool? | RRM® IR TR &
fore forg SNSRI eht 1 Iudi fohar S 82

(A) Zinc sulphate | i Tethe

(B) Tungsten oxide | W&ﬁ?\qﬁg

(C) Copper iridium | Wgﬁ%’qﬂ

(D) Aluminium oxide | &Iﬂmﬁ'ﬂﬁm

Correct Answer : D

(20). What is the term the distance moved by the tool along the work for each

revolution? | @ IaHR & foll BT & TTY Ta gRTId 1 g3l 1 Hadlil &7
(A) Speed ITI'[%T




(B) Feed | BIS
(C) Cutting speed | HicTdls
(D) Depth | &R

Correct Answer : B

(21). Whatis "n” in tool life formula Vt" = c¢? | ¢¢ i<W LbTJj:CiI vin=c | "N Rl

g2

(A) Tool life index | &1 TS SSH]
(B) Cutting speed | @Te &I Tid
(C) Time | T

(D) Cutting time | e BT IHY

Correct Answer : A

(22). What is the name of part marked as ‘X’ in plunger type dial test indicator? |
WoR CI3U ST ¢ Sfedher A /X' gRI fafed fohd T YT &1 1 919 82

(A) Bezel | é@a
(B) Anvil | Tf<ad
(C) Stem | TH



(D) Plunger | WS

Correct Answer : B

(23). Which letter indicates square shape insert? | DI T 3eR WIR YU ‘éﬂHé

&I gRITaT 82
(A) K
(8) L
(C) R
(D) S

Correct Answer : D

(24). What is the term marked as ‘X’? | X’%Wﬁﬁl‘%ﬁwwa?

(A) Diameter over roller at smaller end | Bl 3T # Aad W

(B) Diameter over roller at bigger end | a@ 3id H AR R Y

(C) Height of slip gauge | ENCRISE:] ddl‘éc

v (of
(D) Height of the job | SIId P 33

Correct Answer : B



(25). What is the formula relates to a cutting tool? | W@@Wﬂﬁq@ﬂﬁ
8

C
V=—
t

(A) Calculating cutting speed | CARIE EEARILGI
(B) Calculating feed | I8 &I AT
(C) Calculating machining time | TR qHY B IO

(D) Calculating tool life | gﬂ%\ﬂnld"lﬁ‘wl"ll

Correct Answer : D

(26). How the cutting speed is expressed? | T TS BI hd T RId HXd & ?
(A) Foot/min | Bc/fHC

(B) Meter/sec | HIcx/AH S

(C) Meter/min | Hicx/fHE

(D) Revaluation/min | IdHY/THAC

Correct Answer : C

(27). Which tool material is used to glass? | W%WW@WW
ST a1 ST 62

(A) Carbide | WIHTE_S'
(B) Diamond | SIHE
(C) HCS
(D) HSS



Correct Answer : B

(28). What is the name of jig? | ﬁﬂTWTﬂT:I'IT[%?

(A) Plate jig | @ic fomT

(B) Channel jig | 1a oI
(C) Trunnion jig | ST fomT
(D) Sandwich jig | i fomT

Correct Answer : C

(29). What factor is important in free hand form turning? | Fﬁ%@'ﬁﬁ A
1 HRH HedYUl g7

(A) Unskilled labour | &WW
(B) Skilled labour | PRI P

(C) Sharp tool | dSl YR ATeT ¢l

(D) High speed | I Tfd

Correct Answer : B



(30). Which shape of the insert the letter "R"” indicates? | "R” H&Rﬁéﬁm

3BT B =TT R?

/N

(A)

(B)

(C)

(D)

Correct Answer : D



(31). What is the name of dial test indicator stand? | Wéﬁ%%@g
& T AH §?

%

(A) Magnetic stand with universal clamp | qﬁaﬁaaﬁu%wug&ﬁn@g
(B) Magnetic stand with flexible post | WW&W‘HW@@

(C) General purpose stand with cast iron base | HIHI 3%5221 XS S Y HRC
S DT HTUR

(D) Ordinary stand | YR LS

Correct Answer : A

(32). Which is a non-metallic tool material? | E:Iﬁﬁm HW@W
g?

(A) High carbon steel | 3 BHTa ST
(B) Diamonds | é’m

(C) Stellate | }CATRC

(D) Carbide | W‘T’E’f&'




Correct Answer : B

(33). Which of the formula that gives the tool life? | ‘é"lﬁl | cd & Siig- &l ad

P AT G BT 82
AN

(A) 1000

Vi

(B)

=0

(D) nxit

Correct Answer : B

(34). Which type of tool is suitable to produce form surface in mass production

activities? | § UHM TR ST TAfaferdl & fd UeR &1 ¢d Idg &l i
HRA & o ST &2

(A) Using carbide tipped form tool | d)l@lTﬁS feg ¢ gkl

(B) High carbon steel tool | 3= HTe Id g

(C) High speed steel cutting tool | 3= Tfa ¥Id ¢dd
(D) Using single point cutting tool | WWW@W

Correct Answer : A



(35). What is the type of jig? | T8 [T UPR BT o 82

(B) Box jig | S fomT
(C) Table jig | & folT
(D) Post jig | e forT

Correct Answer : B

(36). What is the use of formula in taper measurement? | CIR AT H SEEJKEI

ITANT 8?

tano = A=X
2H

(A) Checking the angle of taper | TR B0 Bl JTd HIAT

(B) Finding small end diameter | Sic Ty ﬁ?lld Rl

(C) Finding large end diameter | ®I:$ ol ﬁﬂld PRI

(D) Finding the length of taper | TR Bl Q'I*Gll'irﬁilld DRI

Correct Answer : A



(37). What is the type of jig? | T8 fPT UPR BTN g ?

(A) Channel jig | T fSTT
(B) Plate jig | @ie fomT

(C) Post jig | UIC forT

(D) Sandwich jig | i fomT

Correct Answer : B

(38). What is the formula for turning Time (T) calculation? | GIER) CIgH (T) Pl
UM 61 3 T g2

(A) V=nDN
IXn
T=——
fXN
(B)
V
N=——

XD



D
Yes
1000
(D)

Correct Answer : B

(39). Which part is used for clamping plunger type dial test indicator? | a%ﬁim

ok TT5U STd ¢ Siadhex P ot food HRT BT U foha ST 82
(A) Plunger | @GR

(B) Stem | ¥IH

(C) Back lug | S T

(D) Anvil | 3fFdld

Correct Answer : C

(40). Calculated the rpm of spindle if cutting speed ‘V’ is 120m/min and the
diameter ‘D’ of the job is 50 mm? | TS & Tdhx Ufd fiT (RPM) BT U
PO Safdp BT T v 120 Hiey/fie Td Sig 130 'D' 50 mm B |

(A) 500 rpm
(B) 764 rpm
(C) 856 rpm
(D) 975 rpm

Correct Answer : B

(41). Which tool material is used to withstand the temperature above 1000°C? |

1000°C T HUR P ATTH B! g B & fo1d fohd 3R IrEht &1 SuanT fvan
ST 82



(A) Cemented carbide | %ﬁﬂ%@'mﬁ@:
(B) HSS

(C) Tool steel | @W

(D) HCS

Correct Answer : A

(42). What is the term marked as ‘X’? | X' & ¥UH RIgd o w1 B2

|

|

.z
f//l//f/é

x

[

(A) Diameter over roller at the smaller end | B 3d W AN W A

(B) Diameter over roller at larger end | a@ 3 W IR T AT
(C) Height of the taper | éCRﬁB?allé
(D) Diameter of roller | AR BT A

Correct Answer : A

(43). How many most important qualities required for tool material? | g¢l

ARad & forg foram Iad Agayul Uil &t 3Taxgdhdl 87
(A) One | P

(B) Three | <fiH

(C) Two | &




(D) Four | dR

Correct Answer : B

(44). Which is the device that can hold, locate and guide the tool? | ﬁqﬁ@
Sile 1 Uhgdl, R Bl & Td ¢ BT ANGRIA 1 Hrarg?

(A) Jig | fom

(B) Fixture | flhaR=R

(C) Chuck | TP

(D) Collet chuck | Picic IH

Correct Answer : A

(45). What is the use of equation “Y-2 (s+r)” in taper measurement? | CRAMTH

JHIBRT "v-2 (s r)” BT T SYTANT &2

W

¥

(A) To find small end diameter | Bic R O 019 &1 gdl v

(B) To find large end diameter | aéﬁl%tl? UMY b Udl <IT-I

(C) To find the angle of taper | CUR 1T &1 Ul I

(D) To find the length or taper | TUR &1 THITS Y T BRI



Correct Answer : A

(46). What is the name of device? | sﬂg%wamﬂm%?

(A) Jig | ToT

(B) Vice | ?ﬂgﬂ

(C) Table | <&

(D) Milling fixture | fafei o=

Correct Answer : D



(47). What is the purpose of equation “x-2 (s+r)” in taper measurement? | AR

AT & FHIBT "x-2 (s r)” BT IR FAT§?

s

b Ko

r T
1 i iy 1 1
X,\ ;
| E -
i Lail 5
ik

(A) Find the large diameter of taper at any desired height | qifed S Ellé W TR
& I8 I BT Udl a4

(B) Find big end diameter | a%’ﬁﬁfqvﬂmmw T
(C) Find small end diameter | BIc R O 19 &1 gd1 a9

(D) Find lenyon of the taper | CUR &1 TS I JTd BRI

Correct Answer : A

(48). What is the length of the tool travelled in one revolution if the diameter of
work is ‘D’? | U IaH H @ B| @idls 941 ¢ Afe 1Y &1 A D ?

(A) 2m
(B) mr
(C) mxD
(D) 4 mr?

Correct Answer : C



(49). What is the operation? | T8 D=l AfhaT 87

o)

—

(A) Checking angles | P10 DI ST
(B) Checking the squareness | BT P STET
(C) Checking for height | 35||§G|FF|T

(D) Checking for parallelism | THTHIIRAT B! ST

Correct Answer : D

(50). What is the effect, if the cutting speed is more than the recommended? |

gfe e Wi o Wien Wi ¥ SN $R a1 9 a9 31 gH1d Ua ?
(A) Reduce the tool life | a1 &1 Sila Y &I SR

(B) Better finish | §gd 3! ¥dg el

(C) Accurate dimension | Tcld 3ATH

(D) Normal tool life | FTHIRI ¢l &l SilaH

Correct Answer : A



